SRR X R — B AR AT 22 1R e B A3 [ )

pipixia233333 F 2018-04-30 10:4420 R A 1496 iR

SRERE: HEZE

WRAE B : ASCAHEEFEAISCE, #45 CC 4.0 BY-SA AU, #HEEM LR SCH S EMAE .
ASCHEE: httpsy/blog.csdn.net/qq41071646/article/details/80147807

AL

1S HXE2 TR
LTIFEJ%*‘

BEAKRHAREREY, REET, HRLREHFRTRT, KEBNZRZEE TR R —FFEE R
EE

B ' DArel.exe

e 4000 1 A

I R LIRHIERIEKflaggid 2T XAMME EAREE UK —IFHEITITodR )G R FRFH, RE K
T DU B4 E

pinj w4 AU | +f 1]ejm|t|w|h|c|P|

SCIT “YXHEE|DUTCTFIY \n”
zwnan M|h-,ﬁ o) S o
ASCIT fi|||| A £1 azflf[d

ASCIT ™

ASCIT r get./\n’

ASCIT “flag A0, Bihitim. hniete\n”
ASCIT “panse”

UNICODE 'j

ASCIT “D§*~

RIERIEFEN WAflaght X—A)HETH R, BANFRFE T8 MR IF T —BA & WL T


https://blog.csdn.net/qq_41071646
https://blog.csdn.net/qq_41071646/category_7630701.html
http://creativecommons.org/licenses/by-sa/4.0/
https://blog.csdn.net/qq_41071646/article/details/80147807
https://blog.csdn.net/qq_41071646/category_7630701.html

e e e ) Pt P P — —_— = .

SLELSTSLSLS 15l
86111150 re1.8611115D
B2B4B948
LTS TELs LS LiTs)
ASCITI "DUTCTF{We1cBmet BDUTCTH
BOAFF92D4
801114A5 re1.<{ModuleEntryPoint>

801114A5 re1.<{ModuleEntryPoint>
re1.081110862

32{ii B(FFFFFFFF)
32{i; B(FFFFFFFF)
32{i; B(FFFFFFFF)
32{i7 O(FFFFFFFF)
3217 SAEOOB(FFF

a5, FEFERMANBEEN T o o 0 0 o XBHARKTE, o o 0 0 o o o



	实验吧 这是一道很可爱很简单的逆向题呦

